14054 )

Shaft I Pl [ LTI T o [ 1] | |

1500

S Balcony L Balcony = I :
W1 2950x2044 [ [ W1 2950x2045
Fixed window 58 E ok Eu ok Qs Fixed window
WOOB H W11 6000x2500 W11 6000x2500 mmﬂ WOOB H
:7u Sliding wind Sliding window % z m
2 ¥ £8
al 6877 6877 5
5742 5742
R ) 4703
" z 1 2
A W.- = iili G
5 Toilet 1 1 f t H - L
$5 ] I Drg./ Liv. Room 2 = Drg./ Liv. Room S| . | £8
=8 © 4573 9L1 _ g / S = g \ < _ Toilet 8| 2=
>/ 300 A
K 1020 K 41020 K B
g ! t Q ,
SE . 600 . g g
€28 Toilet: Toilet | 3%
o NE - | =8
- 1| mNO IL )| @MO IC
: S 147 120 1462 § '
m = 4 JTJJT__W 1120 t L = u
o T, 1020 o ﬁ S & + 1020 B o
28 1 5428 m[m g2
=€l Bed Room 2 - Bed Room 2 of £3
25" S "l g
4573 1225 ,, 1225 | 4573
T 1
2
i | B |
S 2 o 2 2978 o 2 S
(de) .
Ll = hen = °| Kitchen € >
920 | Kitchen S| LIFT 920
2z . 4 4040 . z g
8% 3| Bed Room 3 Toilet _H_ 4040 , _M_ Toilet Bed Room 3 3| £8
SE ™ i 2500 h 2300 ™ ES
=5 o 5=
i 4020 18 4020
Sliding window Sliding window Sliding window Sliding window
I8 W8 3475x2500 ﬁ il W10 2220x2045 2 10502350 W10 2220x2045 ﬁ W8 3475x2500 -+
in W7 520x1620 L H ,ﬁm“_owmﬂm%wo Fixed window s«w% wo_”mwwo W7 520x1620 -
Casement window Casement window
Balcony =— Shaft Shaft — Balcony S
N o~ N
6775 750 750 6775
5357 - : 5357




